

ABC Bid Data

DISTRICT 4 16164H NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	DISTRICT 4 16164H NON-FEDERAL March 26, 2019, 2:00 Resurfacing various tier 2, 3, and 4 roadways in District 4. September 13, 2019	Awarded To: Amount: Award Date:	MITCHELL SAND & GRAV LLC 191 REYNOLDS ROAD SHELBURNE, MA 01370 \$4,955,752.69	EL Certified by:	PETER.E.STAMNAS Director of Project Development	
	Summary	y of Bidders				
Contractor					Bid Amount	Rank
MITCHELL SAND & GI 191 REYNOLDS RO	RAVEL LLC DAD, SHELBURNE MA 01370				\$4,955,752.69	A
PIKE INDUSTRIES, IN 3 EASTGATE PARK	C. K ROAD, BELMONT NH 03220				\$5,217,944.40	В
EUROVIA ATLANTIC (2911 N GRAHAM S	COAST LLC TREET, CHARLOTTE NC 28206				\$5,722,245.20	С
BROX INDUSTRIES, II	NC.				\$5,779,704.95	D

1471 METHUEN STREET, DRACUT MA 01826

				PS&E		191 REYN	ND & GRAVEL LLC IOLDS ROAD NE, MA 01370	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

203.1	COMMON EXCAVATION	СҮ	5.00	\$10.17	\$50.85	\$150.00	\$750.00	\$200.00	\$1,000.00
203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$40.00	\$4,000.00	\$25.00	\$2,500.00	\$20.00	\$2,000.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	37.50	\$150.00	\$5,625.00	\$300.00	\$11,250.00	\$325.00	\$12,187.50
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,273.00	\$21.00	\$110,733.00	\$20.00	\$105,460.00	\$32.00	\$168,736.00
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	506.00	\$113.94	\$57,653.64	\$90.00	\$45,540.00	\$84.00	\$42,504.00
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	4,523.00	\$84.31	\$381,334.13	\$90.00	\$407,070.00	\$83.00	\$375,409.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	110.10	\$129.35	\$14,241.44	\$150.00	\$16,515.00	\$250.00	\$27,525.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	3,185.00	\$2.23	\$7,102.55	\$2.50	\$7,962.50	\$4.50	\$14,332.50
403.6	PAVEMENT JOINT ADHESIVE	LF	29,748.00	\$0.11	\$3,272.28	\$0.30	\$8,924.40	\$0.50	\$14,874.00
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	963.00	\$0.75	\$722.25	\$1.50	\$1,444.50	\$0.50	\$481.50
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	54,816.00	\$4.00	\$219,264.00	\$3.00	\$164,448.00	\$2.95	\$161,707.20
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	38,694.00	\$66.65	\$2,578,955.10	\$74.00	\$2,863,356.00	\$74.25	\$2,873,029.50
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	5,042.00	\$71.35	\$359,746.70	\$76.00	\$383,192.00	\$74.25	\$374,368.50
417.	COLD PLANING BITUMINOUS SURFACES	SY	57,876.00	\$8.00	\$463,008.00	\$3.50	\$202,566.00	\$3.70	\$214,141.20
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	50.00	\$7.00	\$350.00	\$15.00	\$750.00	\$40.00	\$2,000.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	66.90	\$111.62	\$7,467.38	\$125.00	\$8,362.50	\$105.00	\$7,024.50
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	67.00	\$130.33	\$8,732.11	\$125.00	\$8,375.00	\$120.00	\$8,040.00
604.0007	POLYETHYLENE LINER	EA	264.00	\$175.00	\$46,200.00	\$150.00	\$39,600.00	\$120.00	\$31,680.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	264.00	\$600.00	\$158,400.00	\$600.00	\$158,400.00	\$500.00	\$132,000.00
608.2401	4" CONCRETE SIDEWALK	SY	329.70	\$140.00	\$46,158.00	\$65.00	\$21,430.50	\$65.00	\$21,430.50
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	47.10	\$270.00	\$12,717.00	\$450.00	\$21,195.00	\$450.00	\$21,195.00
609.01	STRAIGHT GRANITE CURB	LF	8.40	\$180.00	\$1,512.00	\$75.00	\$630.00	\$55.00	\$462.00
609.5	RESET GRANITE CURB	LF	362.30	\$65.00	\$23,549.50	\$45.00	\$16,303.50	\$35.00	\$12,680.50
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	1.00	\$372.22	\$372.22	\$750.00	\$750.00	\$500.00	\$500.00
616.630	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 30 FT	EA	2.00	\$648.68	\$1,297.36	\$950.00	\$1,900.00	\$900.00	\$1,800.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	25.00	\$879.06	\$21,976.50	\$1,250.00	\$31,250.00	\$1,200.00	\$30,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
618.7	FLAGGERS	HR	2,122.00	\$25.00	\$53,050.00	\$34.00	\$72,148.00	\$35.00	\$74,270.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	5.00	\$170.00	\$850.00	\$500.00	\$2,500.00	\$185.00	\$925.00
	•								

				PS&E		MITCHELL SAND & GRAVEL LLC 191 REVNOLDS ROAD SHELBURNE, MA 01370		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
628.1	SAWED CONCRETE PAVEMENT	LF	65.10	\$8.82	\$574.18	\$10.00	\$651.00	\$10.00	\$651.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	604.40	\$3.00	\$1,813.20	\$3.00	\$1,813.20	\$5.00	\$3,022.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	500.00	\$2.00	\$1,000.00	\$1.00	\$500.00	\$1.00	\$500.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	250.00	\$4.00	\$1,000.00	\$3.00	\$750.00	\$4.00	\$1,000.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$2.00	\$200.00	\$10.00	\$1,000.00	\$2.00	\$200.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	50.00	\$4.00	\$200.00	\$20.00	\$1,000.00	\$4.00	\$200.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	850.00	\$1.28	\$1,088.00	\$2.00	\$1,700.00	\$4.00	\$3,400.00
692.	MOBILIZATION	U	1.00	\$153,869.30	\$153,869.30	\$136,097.59	\$136,097.59	\$375,000.00	\$375,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	34,000.00	\$1.00	\$34,000.00	\$1.00	\$34,000.00	\$1.00	\$34,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	19,068.00	\$1.00	\$19,068.00	\$1.00	\$19,068.00	\$1.00	\$19,068.00
			Totals:		\$4,955,753.69		\$4,955,752.69		\$5,217,944.40
			Alt. Totals:						
			Totals:		\$4,955,753.69		\$4,955,752.69		\$5,217,944.40

				PS&E		EUROVIA ATLANTIC COAST LLC 2911 N GRAHAM STREET CHARLOTTE, NC 28206		1471 METH	USTRIES, INC. IUEN STREET 7, MA 01826
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

203.1	COMMON EXCAVATION	CY	5.00	\$10.17	\$50.85	\$85.00	\$425.00	\$510.00	\$2,550.00
203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$40.00	\$4,000.00	\$50.00	\$5,000.00	\$20.00	\$2,000.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	37.50	\$150.00	\$5,625.00	\$350.00	\$13,125.00	\$355.00	\$13,312.50
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,273.00	\$21.00	\$110,733.00	\$43.00	\$226,739.00	\$33.00	\$174,009.00
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	506.00	\$113.94	\$57,653.64	\$95.50	\$48,323.00	\$95.00	\$48,070.00
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	4,523.00	\$84.31	\$381,334.13	\$95.50	\$431,946.50	\$91.00	\$411,593.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	110.10	\$129.35	\$14,241.44	\$175.00	\$19,267.50	\$170.00	\$18,717.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	3,185.00	\$2.23	\$7,102.55	\$4.50	\$14,332.50	\$4.00	\$12,740.00
403.6	PAVEMENT JOINT ADHESIVE	LF	29,748.00	\$0.11	\$3,272.28	\$0.20	\$5,949.60	\$0.35	\$10,411.80
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	963.00	\$0.75	\$722.25	\$0.40	\$385.20	\$2.65	\$2,551.95
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	54,816.00	\$4.00	\$219,264.00	\$4.35	\$238,449.60	\$5.00	\$274,080.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	38,694.00	\$66.65	\$2,578,955.10	\$80.15	\$3,101,324.10	\$88.00	\$3,405,072.00
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	5,042.00	\$71.35	\$359,746.70	\$95.65	\$482,267.30	\$88.00	\$443,696.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	57,876.00	\$8.00	\$463,008.00	\$4.95	\$286,486.20	\$4.00	\$231,504.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	50.00	\$7.00	\$350.00	\$5.25	\$262.50	\$25.00	\$1,250.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	66.90	\$111.62	\$7,467.38	\$125.00	\$8,362.50	\$102.00	\$6,823.80
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	67.00	\$130.33	\$8,732.11	\$138.00	\$9,246.00	\$118.00	\$7,906.00
604.0007	POLYETHYLENE LINER	EA	264.00	\$175.00	\$46,200.00	\$235.00	\$62,040.00	\$100.00	\$26,400.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	264.00	\$600.00	\$158,400.00	\$590.00	\$155,760.00	\$375.00	\$99,000.00
608.2401	4" CONCRETE SIDEWALK	SY	329.70	\$140.00	\$46,158.00	\$70.00	\$23,079.00	\$70.00	\$23,079.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	47.10	\$270.00	\$12,717.00	\$500.00	\$23,550.00	\$475.00	\$22,372.50
609.01	STRAIGHT GRANITE CURB	LF	8.40	\$180.00	\$1,512.00	\$60.00	\$504.00	\$70.00	\$588.00
609.5	RESET GRANITE CURB	LF	362.30	\$65.00	\$23,549.50	\$38.00	\$13,767.40	\$48.00	\$17,390.40
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	1.00	\$372.22	\$372.22	\$750.00	\$750.00	\$1,000.00	\$1,000.00
616.630	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 30 FT	EA	2.00	\$648.68	\$1,297.36	\$1,100.00	\$2,200.00	\$1,200.00	\$2,400.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	25.00	\$879.06	\$21,976.50	\$1,425.00	\$35,625.00	\$1,300.00	\$32,500.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
618.7	FLAGGERS	HR	2,122.00	\$25.00	\$53,050.00	\$60.00	\$127,320.00	\$38.00	\$80,636.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	5.00	\$170.00	\$850.00	\$375.00	\$1,875.00	\$200.00	\$1,000.00
	•								

					PS&E	2911 N GR	EUROVIA ATLANTIC COAST LLC 2911 N GRAHAM STREET CHARLOTTE, NC 28206		DUSTRIES, INC. HUEN STREET IT, MA 01826
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
628.1	SAWED CONCRETE PAVEMENT	LF	65.10	\$8.82	\$574.18	\$11.00	\$716.10	\$8.00	\$520.80
628.2	SAWED BITUMINOUS PAVEMENT	LF	604.40	\$3.00	\$1,813.20	\$5.50	\$3,324.20	\$3.00	\$1,813.20
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	500.00	\$2.00	\$1,000.00	\$3.00	\$1,500.00	\$0.85	\$425.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	250.00	\$4.00	\$1,000.00	\$3.00	\$750.00	\$3.50	\$875.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$2.00	\$200.00	\$4.85	\$485.00	\$4.00	\$400.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	50.00	\$4.00	\$200.00	\$9.75	\$487.50	\$5.00	\$250.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	850.00	\$1.28	\$1,088.00	\$4.65	\$3,952.50	\$6.00	\$5,100.00
692.	MOBILIZATION	U	1.00	\$153,869.30	\$153,869.30	\$165,000.00	\$165,000.00	\$190,000.00	\$190,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	34,000.00	\$1.00	\$34,000.00	\$1.00	\$34,000.00	\$1.00	\$34,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	19,068.00	\$1.00	\$19,068.00	\$1.00	\$19,068.00	\$1.00	\$19,068.00
			Totals:		\$4,955,753.69		\$5,722,245.20		\$5,779,704.95
			Alt. Totals:						
			Totals:		\$4,955,753.69		\$5,722,245.20		\$5,779,704.95



DISTRICT 4

16164H

NON-FEDERAL

				A-Bid	der	PS	λЕ	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
203.1	COMMON EXCAVATION	СҮ	5.00	\$150.00	\$750.00	\$10.17	\$50.85	\$699.15
203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$25.00	\$2,500.00	\$40.00	\$4,000.00	(\$1,500.00)
206.1	COMMON STRUCTURE EXCAVATION	СҮ	37.50	\$300.00	\$11,250.00	\$150.00	\$5,625.00	\$5,625.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,273.00	\$20.00	\$105,460.00	\$21.00	\$110,733.00	(\$5,273.00)
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	506.00	\$90.00	\$45,540.00	\$113.94	\$57,653.64	(\$12,113.64)
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	4,523.00	\$90.00	\$407,070.00	\$84.31	\$381,334.13	\$25,735.87
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	110.10	\$150.00	\$16,515.00	\$129.35	\$14,241.44	\$2,273.56
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	3,185.00	\$2.50	\$7,962.50	\$2.23	\$7,102.55	\$859.95
403.6	PAVEMENT JOINT ADHESIVE	LF	29,748.00	\$0.30	\$8,924.40	\$0.11	\$3,272.28	\$5,652.12
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	963.00	\$1.50	\$1,444.50	\$0.75	\$722.25	\$722.25
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	54,816.00	\$3.00	\$164,448.00	\$4.00	\$219,264.00	(\$54,816.00)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	38,694.00	\$74.00	\$2,863,356.00	\$66.65	\$2,578,955.10	\$284,400.90
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	5,042.00	\$76.00	\$383,192.00	\$71.35	\$359,746.70	\$23,445.30
417.	COLD PLANING BITUMINOUS SURFACES	SY	57,876.00	\$3.50	\$202,566.00	\$8.00	\$463,008.00	(\$260,442.00)

417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	50.00	\$15.00	\$750.00	\$7.00	\$350.00	\$400.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	66.90	\$125.00	\$8,362.50	\$111.62	\$7,467.38	\$895.12
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	67.00	\$125.00	\$8,375.00	\$130.33	\$8,732.11	(\$357.11)
604.0007	POLYETHYLENE LINER	EA	264.00	\$150.00	\$39,600.00	\$175.00	\$46,200.00	(\$6,600.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	264.00	\$600.00	\$158,400.00	\$600.00	\$158,400.00	\$0.00
608.2401	4" CONCRETE SIDEWALK	SY	329.70	\$65.00	\$21,430.50	\$140.00	\$46,158.00	(\$24,727.50)
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	47.10	\$450.00	\$21,195.00	\$270.00	\$12,717.00	\$8,478.00
609.01	STRAIGHT GRANITE CURB	LF	8.40	\$75.00	\$630.00	\$180.00	\$1,512.00	(\$882.00)
609.5	RESET GRANITE CURB	LF	362.30	\$45.00	\$16,303.50	\$65.00	\$23,549.50	(\$7,246.00)
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	1.00	\$750.00	\$750.00	\$372.22	\$372.22	\$377.78
616.630	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 30 FT	EA	2.00	\$950.00	\$1,900.00	\$648.68	\$1,297.36	\$602.64
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	25.00	\$1,250.00	\$31,250.00	\$879.06	\$21,976.50	\$9,273.50
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$0.00
618.7	FLAGGERS	HR	2,122.00	\$34.00	\$72,148.00	\$25.00	\$53,050.00	\$19,098.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	5.00	\$500.00	\$2,500.00	\$170.00	\$850.00	\$1,650.00
628.1	SAWED CONCRETE PAVEMENT	LF	65.10	\$10.00	\$651.00	\$8.82	\$574.18	\$76.82
628.2	SAWED BITUMINOUS PAVEMENT	LF	604.40	\$3.00	\$1,813.20	\$3.00	\$1,813.20	\$0.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	500.00	\$1.00	\$500.00	\$2.00	\$1,000.00	(\$500.00)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	250.00	\$3.00	\$750.00	\$4.00	\$1,000.00	(\$250.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$10.00	\$1,000.00	\$2.00	\$200.00	\$800.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	50.00	\$20.00	\$1,000.00	\$4.00	\$200.00	\$800.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	850.00	\$2.00	\$1,700.00	\$1.28	\$1,088.00	\$612.00

692.	MOBILIZATION	U	1.00	\$136,097.59	\$136,097.59	\$153,869.30	\$153,869.30	(\$17,771.71)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	34,000.00	\$1.00	\$34,000.00	\$1.00	\$34,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	19,068.00	\$1.00	\$19,068.00	\$1.00	\$19,068.00	\$0.00

Total:

\$4,955,752.69

(\$1.00)

\$4,955,753.69